= INTRANSITIVE PATTERN 1
= no object
Single Subject

INDICATIVE Independent (whole event)

1 n'pazobi
2 k'pazdbi
3 *pazbbo

1 0dan'pazdbiw
2 0dak'pazdbiw
3 0da pazbbiwi

Conjunct (part of an event)

1 pazodbia
2 pazbbian
pazobit

1 0da pazobiwwa
2 0da pazbbiwwan
3 0da pazdbikw



= INTRANSITIVE PATTERN 2
= no object

Plural Subject

INDICATIVE Independent (whole event)

Te  n'pazdhibna
1i k'pazdbibna
2 k'pazdbiba
3 pazbboak

Te  0dan'pazbbippna
1i oda k'pazbbippna
2 0dak'pazbbippa
3 0da pazbbiwiak

Conjunct (part of an event)

Te pazbbiak Te
1i pazbbiakw Ti
2 pazbbiakw 2

3 pazbbihidit 3

6da pazdbiwwak

6da pazdbiwwakw
6da pazobiwwakw
o6da pazdbihidikw



= INTRANSITIVE PATTERN 3
E Y object
Single Subject

SUBJUNCTIVE Independent (whole event)

1 nin'pazbbin 1
2 nik'pazdbin 2
3 niw'pazbbin 3

*Conjunct Intransitive Pattern 1

= INTRANSITIVE PATTERN 4
= no object

Plural Subject

SUBJUNCTIVE Independent (whole event)

Te  nin'pazbbinana Te
1i nik'pazdbinana Ti
2 nik'pazdbind 2
3 niw'pazbbind 3

*Conjunct Intransitive Pattern 2

ni 6da n'pazébiwwen
ni 6da k'pazdbiwwen
ni 6da w'pazdbiwwen

ni 6da n'pazdbiwwenana
ni 6da k'pazdbiwwenana
ni 6da k'pazdbiwwend
ni 6da w'pazdbiwwend



